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Directions: In the following sentence there is a blank 
space which must be filled with a suitable word given 
in the following options. Fill in the blank with 
appropriate word given.
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Question 1

With a graded approach to the use of antibiotics, under which some 
medicines are reserved for the most _________ microbes, the WHO 
list can stop their misuse as broad spectrum treatments.

A. Observable
B. Gesture
C. Receptive
D. Beheld
E. resistant
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Question 2

The ________ WHO classification can mitigate the problem if the 
many issues associated with use of drugs can be monitored and 
regulated.

A. Motion
B. Susceptible
C. Kinesics
D. Revised
E. continued
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Question 3

Within the _______ of medical practice, the prescription of antibiotics 
is often guided by such factors as patient demand, competing 
alternative treatment systems, and even financial incentives.

A. Realm
B. Perceptible
C. Mannerism
D. Maintained
E. Sustained
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Question 4

Access to speedy and ______ diagnosis is equally important in order to 
deploy the correct antibiotic early.

A. Accurate
B. Preserved
C. Retained
D. Discernible
E. Alfresco
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Question 5

Drug-resistant microbes ______ a serious challenge today to treat, 
among other things, pneumonia, infection of blood and surgical sites 
and meningitis.

A. Faraway
B. Meningitis
C. Exterior
D. Pose
E. Immigrant
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Question 6

Laying out its reasoning for option to remain “watchful”, the RBI has 
raised pertinent questions relating to the outlook for price stability, 
the _______ being whether the “unusually low momentum in the 
reading for April will endure”.

A. Extraneous
B. Extramural
C. Foremost
D. Beforehand
E. Extralocal
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Question 7

The RBI’s business expectations index based on its industrial outlook 
survey of April points to upbeat ______ for the manufacturing sector 
in the second quarter of the current fiscal year, spurred by rising rural 
and overseas demand.

A. Estranged
B. Prospectus
C. Extreme
D. Farthest
E. Borrowed
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Question 8

Spelling out the priorities, the MPC has said monetary policy can be 
effective only when private investment has revived, the banking 
sector’s health is restored and infrastructure _______ are removed.

A. Bottlenecks
B. Outermost
C. Outward
D. Exiled
E. Derived
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Question 9

This can be done by switching over to electric _____ for orbit rising 
and to keep he satellite in the right position and orientation in the 
orbit through its lifetime(that is station keeping).

A. Extrinsic
B. Expatriate
C. Retention
D. Propulsion
E. Farther



SBI CLERK 2022 at 10:30 am

Question 10

Another key achievement is the use of an _______  developed cryogenic 
stage, which uses liquid oxygen and liquid hydrogen; the 2010 GSLV launch 
using an indigenous cryogenic stage ended in failure.

A. Exotic
B. Antipodal
C. Indigenously
D. Furthest
E. Barbarian
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Directions: In the following questions a paragraph is 
given with two blanks. The paragraph is then provided 
with five options which consist of the words that can 
fill the given blanks. Choose that option as your answer 
which can fill the given blanks in the exact order as 
given in the option. If none of the given options fills 
the given blanks then choose option (e), ‘None of 
these’ as your answer.
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Question 11

Pakistan ___________________ raises this bogey of nuclear escalation every 
time it engages in some action in terms of ________________ terrorists 
across.

(a) repeatedly, sending
(b) exercised, budgeted
(c) constraints, struggles
(d) approached, motivational
(e) attract, considered
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Question 12

Attention needs to be ______________ to both cyclical and structural 
dimensions of India’s present ____________________ slowdown.

(a) infrastructure, functionality
(b) paid, economic
(c) sought, remote
(d) willing, sharing
(e) developed, funding
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Question 13

Private corporate and public sectors were the _________________ sectors, 
financing their deficits from the ____________________ savings of the 
household sector.

(a) proven, altered
(b) premium, stiffed
(c) deficit, surplus
(d) steering, operational
(e) enable, lever
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Question 14

Another area that needs ____________________ attention is the financial 
system, which must be __________________ to lend more.

(a) hassles, removal
(b) arrangement, profitability
(c) lost, simplify
(d) immediate, activated
(e) mixed, average
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Question 15

Policymakers were clearly under __________________ to do something to 
allay the fears of foreign investors, so the _________________ of SEBI’s move 
is no surprise.

(a) sober, sorority
(b) synchronization, timid
(c) options, prioritize
(d) demonetization, luckily
(e) pressure, timing
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Question 16

India had been ________________ to adopt nationalism as a creed but is now 
tilting towards ________________ nationalism.

(a) slow, majoritarian
(b) betrayal, malfunctioned
(c) basic, international
(d) approximation, interface
(e) percentile, distant
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Question 17

The post of CDS can _______________ either to a transformation of the 
defence forces or it could sink with a _________________ mandate.

(a) expansion, component
(b) lead, middling
(c) small, products
(d) multiplier, empirical
(e) output, respective
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Question 18

Vivekananda was a __________________ of a multicultural nation rooted in 
religious _____________________ and modernity.

(a) provide, purview
(b) adversely, impacted
(c) proponent, tolerance
(d) notional, offset
(e) increased, capital
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Question 19

The practice of Indian ___________________, despite its pitfalls, has 
______________________ the country from many of its neighbours.

(a) cooperation, built-in
(b) stakes, factor
(c) signed, memorandum
(d) secularism, distinguished
(e) suggestion, intervene



SBI CLERK 2022 at 10:30 am

Question 20

The country’s ______________ ideals have their roots in its Constitution, 
________________ by its people, a majority of whom are Hindus.

(a) boosted, harmony
(b) burgeoning, facilitate
(c) incentivise, equitable
(d)  secular, promulgated
(e) regional, enhancing
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